Homep OnucaHue Kon-so [M306paxkeHune
INJ-SR-0100 KpenneHne NONHOCTbIO 1
KpenneHune gamdepHoe Ha
INJ-SR-0145 KBagpart Tpyby 50/50mm 1
D il = S
— i * o
ANOMUHWEBDBIN pblyar
INJ-SR-0101 KpenneHua 1
INJ-SR-0102 3agHee KpenaeHue 1
INJ-SR-0140 3agHee KpenneHne 1
INJ-SR-0103 Cneu ralika M10 1
INJ-SR-0104 PesunHosblli gamdep D28x90 4




Homep OnucaHue Kon-so [M306paxkeHune
INJ-SR-0105 Waiba A 17 2
oo RGN
Y
INJ-SR-0106 bont M16 x 50 2
INJ-SR-0107 Maiika M16 2
INJ-SR-0108 bont M10 x 90 1
INJ-SR-0109 laitka M10 4
INJ-SR-0110 LWan6a A 10,5 9
INJ-SR-0111 bont M10 x 45 4




Homep OnucaHue Kon-so [M306paxkeHune
MHBbeKLMOHHOEe KoJieco B
INJ-SR-0300 cbope 1
[VCK c KpenaeHnaMU Ha
INJ-SR-0200 urnol M14x1,5 1
INJ-SR-0008 Tpy6ka 8 x 1,15 x 200, cuHAan 12
3aKaneHHaa MHBbEKLMOHHanA
urna 16 x 80 c pe3bboit
INJ-SR-0011 M14x1,5 12
INJ-SR-0012 laika M14x 1,5 12




Homep OnucaHue Kon-so [M306paxkeHune
KynucHblih pacnpeaenntens
INJ-SR-0500 NoNHOCTbIO (B cbope) 1
‘./’/
%
INJ-SR-0501 Ocb 1
INJ-SR-0502 MpuknmHan waiiba 1
INJ-SR-0503 BTynka 1
CMOHTMpPOBaHHaA BTY/KA C
NoAWMUNHUKAMK,
YNAOTHEHMEM WU
3anpeccoBbIBaeMbIMMU
INJ-SR-0503-VM [TpybKamu
INJ-SR-0504 PacnpegenutensbHasn waiba 1 _
INJ-SR-0505 3awmTHasa Tpyba (MNBX) 1




Homep OnucaHue Kon-so [M306paxkeHune
INJ-SR-0506 Konnak (NBX) 1
INJ-SR-0507 Mpy*uHa 3
INJ-SR-0508 ®duTKHr yrnosoi 6mm - 1/8" 1
INJ-SR-0232 Mpecc-TpybKa 6x1 12
MoawmnnHmk 42x20x12
INJ-SR-0509 1
INJ-SR-0510 MogwunnHmk 42 x 25 x9 2
INJ-SR-0511 YnnotHeHne 30 x 42 x 7 1




Homep OnucaHue Kon-so [M306paxkeHune
INJ-SR-0512 WrndTt 8 x 30 2
INJ-SR-0513 bont M10 x 16 5
LLlaib6a ctonopHas ¢
INJ-SR-0514 pudneHnem M 10 1
YcTaHOBOYHbIN BUHT M10 x
INJ-SR-0515 20 1
CMmas04YHbIN HUNNeAb npecc-
INJ-SR-0516 macnéHka M8 x 1,0 1
INJ-SR-0517 LWanba A 10,5 4




	0100

